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Instruction : (A) Question No. 1 is an objective type question. It has three
Parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each Part has 5 questions

and each question carries 1 mark.
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UgA-1  (@ue-37) Hel fasheq g fafan : [1x5=5]

(Part-A) Choose and write the correct option :

() Trafate & @ wF-a ame-fAftg e § 2
(37) uiferH
(&) =
() Wi
(?) M
Which of the following is man-made resource?
(a) Petroleum
(b) Forest
(c) Machine

(d) Land

(if) SATYRT & GG WA
(&) gfers or |
(&) =AU & 9"
(7) d& ¥
(7) RH
Your wealth is secured :
(a) in Police Station
(b) near trader
(¢) inbank

(d) 1inhouse
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(iv)

[3]

(37) T i W

(F) o Joa W

(9) AU o W

(7) I THeA qed W

F.C.I. purchases crops from farmers at :
(a) local price

(b) wholesale price

(c¢) international price

(d) minimum support price

feeer g Tefyd 9ret of :
(37) e

(3) g

(®) TegarR

() I H 9 FIE T2
Hitler established the Party :
(a) Fascism

(b) Nazism

(¢) Nationalism

(d) None of the above
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(v) crshdd ot Foherar R et ©

(37) ARG i IS W

() ANTRERT 1 TR-HFH HEART T

(T) ANTREnRt ot faaehyol HewIfiEl ®

(%) IS9Pkl H 9§ IE Tl

Success of democracy depends :

(a) on the dullness of citizens

(b) on the illegal actions of citizens

(c¢) on the judicious participation of citizens

(d) None of the above

(TUe-a ) 3feaq Ty Sifey :

(%) (@)
(i) wR@r i (37) - o Teoero
(if) ST T =oon (&) Tefem, FrmHreh!
(iif) A §H (7) <ofifasm
(iv) e 1 g (%) SR yfH

(v) SieA-3elt i garfaa

AT

(3) foaml =t A T

[1x5=5]
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(Part-B) Match the following :

(A) (B)
(/) Factory building - (a) Details of income-expenditure
(if) Czar’s announcement - (b) Hiroshima, Nagasaki
(iii) Atom bomb - (c¢) Television
(iv) Feature of budget - (d) Barren land
(v) Affects lifestyle - (e) Farmer’s slavery ends
(Tue-u ) faa Tl &t gfd Sife [1x5=5]

(Part-C) Fill in the blanks :

() Hfasr ¥ =1 &1 gF 'a —— T |

is the major source of energy in the future.

(if) TEHR % TorEd 1 Tod 81 Bd —— ¢ |

The main source of Government Revenue is

(iii) Sl ol Sfeh —— S h! el ST & |

Bank is called the bankers’ bank.

S-3A

P.T.O.



[6]
(iv) S faaaTm & Toer — %

Capital of North Vietnam is .

(v) T & 99 &1 gy 99 —— o &1 g3l

Colour Printing Press was invented after

ot : (9) U HHMG 2 ¥ 6 a9 A oY-SWE T ¥ | TIE T W

2 3k sTefed €1 (ITR I 3ierehan vea-THT 30 12 ¥)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

Y9T-2  Hohol Wq] 3cUIQ oh1 3719 FamT |

Explain Gross Domestic Product.

YyA-3  § 1917 %t & hifd’ & &1 9o fafen |

Write two results of the Russian Revolution of 1917.

UIT-4  Tges SR AfHIEE § S N ek 9Ed ¢ 2

What 1is the difference between Nationalism and Extreme

Nationalism?

Y9T-5 SR 31 Ic1e e H 1 3R & ?

What is the difference between Income Tax and Product Tax?

WH-6 A I W T WA § 2

What does the Cold War mean?
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: (F) T R 7 ¥ 10 T 1 -3 T T | TAE T W

3 3k aTeifed €1 (ST & 3if¥ehan - 50 U8 ®)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

W7

Y-8

YIT-9

YI1-10

Each question carries 3 marks. (Maximum word-limit of

answer is 50 words)

TSl ST AT i i WTe 9T fefa | [1+1+1=3]

Write three special features of the first general election.

F 31T Y@ <9 & g | 9wk § 2 3 o fifs) [3]
Is invisible hunger obstacle in the path of development of the

country? Give your opinion.

I & AR ¥ fier ol | oy fafaw | [1+1+1=3]

Write three benefits of Right to Information.

SvteRToT 7 Afent & Siaq i fohg JerR genfad fean § 2 [3]

How has globalization affected the lives of workers?
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fdor : (3) U HHG 11 W 14 6 AY-3TT T € | Tk G A
AR fashed B 1 T% 99 W 4 3 A6ifed &1 (ST &l
STRhaT TE-EHT 75 OIS ®)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

U9A-11  soll ® HHIfe! o 3ehl & =R RY fafE | [1+1+1+1=4]

Write four reasons for the rise of Mussolini in Italy.

sfeqar

OR

feeer =t foew ifa =1 gHzmET |

Explain Hitler’s Foreign Policy.

Yga-12  SHEEA foehie 9arst o fow =aes €, 6y 2 99Ems | [4]

Population explosion is fatal for society, how? Explain.
37erar
OR

ST | - F AThS T BId & 2 THSET

What are the figures obtained from census? Explain.

~

U9A-13  9uH fava gg o frgl aIR SROT ol Icei@ hifT | [1+1+1+1=4]

Mention any four reasons for the First World War.
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4T i GfY S YHE I BHA-DE Gt off 2

What were the main terms of the Treaty of Versailles?

Uga-14  9ff yed & fau dF-@F ¥ qh AT S Hhd ¥ 2 Swd
I | [4]
What are the different methods adopted for land management?
Explain.
FreifeRa difetent ® %o 91 T T4 € | 37k 511 2t 1 ST fohd TR
ToRan T € 2 39 difereh § WRT - [1+1+1+1=4]
. e faeet =1 SuEm
1 | PRI
2 |fwram
3 |HfdsR
4 |Tiia =t Afgen
Some names are given in the table. How do they use soil? Fill in
the table :
SL.No. Persons Use of Soil
1 Potter
2 | Farmer
3 | Sculptor
4 | Woman of village
S-3A P.T.O.



[10]
fdsr : (3) U hHIE 15 T 16 SE-ST0T Y9 © | T4k U9 H il

foehed ® | 9oieh U39 W 5 3k 3Teifed § 1 (ST i Sferaq

Wee-HHT 700 T2 )

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is /00 words)

Uo-15 AT S1amE SR TR SAfuard @t o Hifee (R ArE) | [1+H1+H]1+1+1=5]

Compare Rural Settlement and Urban Settlement (any five).
379U4q1/OR

TR ¥ HH-F I TS 369 21 /I E (FE ure) ?

What are the problems arising from Urbanization (any five)?

YoI-16 YRAE HU H HY SAERHAT b HROT HI Hag F fafay
(TS Ut | [1+1+1+1+1=5]
Write briefly the reasons for the low productivity of Indian

Agriculture (any five).

sTar

OR

Fft w1 wRd & forw sga st weww ¥ Rl ure fomgedi # v
TSI |

Agriculture is very important for India. Explain in any five points.
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fdor : () Y HHIH 17 T8 18 E-SOT U § | Tk 99 | =i

fahed § | I U9 T 6 3k 3Teifed € | (ST i 3iferehan

Yee-HH Tl 750 = ¥)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.
Each question has internal option. Each question carries

6 marks. (Maximum word-limit of answer is /50 words)

UA-17 IR T89S & HEf d el & oo Rifee (FE®:) 1 [1+1+1+1+1+1=6]

Describe the works and powers of Indian Parliament (any six).

37T/ OR

Tat= e ol Afdadl €& shaedi ol auid Hise (i B:) |

Describe the powers and duties of the Supreme Court (any six).

Y9A-18  HaeH Ufshal & B: forg foraent dfara samen shifsa | [1+1+1+1+1+1=6]

Briefly explain the six points of Voting Process.
37941/ OR

% HARIAT T RO § HAGH L &1 S § 7 TR (T Bt ) |

Why some voters do not go for voting? Explain (any six).

oooooooooo
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